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No. of Questions : 120

Time : 2 Hours ] [ Full Marks : 360

Note: (i) Attempt as many questions as you can. Each question carries 3 (Three)
marks, Du; mark will be deducted for each incorvect answer. Zero mark

will be awarded for each unattempted question.

(1) If more than one alternative answers seem to be approximate to the correct

answer, choose the closest one. -

1. If f(x}=4/1+22, then

(1) Q)= Fx Q) (2) flx+y)=flx)4+ f(y)
(3Y Flx) 2 flx) () @) flxy) s flx)f(n

2. The number of selection of one or more things.omb of 1t diffarent things is :
(1) 2" +1 (2229

{3 2" +1 4) 2" -1

3. Valueof 'P+2P,+3°Py+ ..+n"P is {whem "p {m) }

{n—r}!
(1) THIPMH_I ‘F-T[QJ ”+]R:+I+I
(3) " Py -1 @ "2B,,1+1
(1)

P.T.0,
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d'l

8.

fna X
IfAa=lm m m ; then the roots of A= 0 are;
b x b

) a.m (2) a b

(3) ~a b . (4) 0,m

(1) 14xt+xi+ 00 ) 1 +xt-w

(3) 1- ¥+ =x¥ —om (4) 1-xt+x8 -

If A is a determinant of order 3, then the value of |A|+ |-A| isequal to:

(1) 0 {2) 1

(3) 2 (4) 2]1A]

If A, B, C ate non singular square matrices of order 3 x 3 then which of the
following is not necessarily true ?

U—} ‘ﬂlrﬂ_—. I = ﬂAI =1 {2] A"l H—l = {EA)—1

) =1 (4) (A4 -B)C=AC -BC

[f 2 man has 6 friends, then number of ways he may invite one or more of them

wo dinner 1S

1y 120 (2) 80

(@ 55
(3) b3

(2)



10,

1.

12,
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Let 7, be the rth termof an A. . forr = 1, 2, .... . If for some positive integers t,
S | . .
n, we have T, =— and T;, =—, then T,,, equals:
n i

a L @ -+t

mH m H

(3) 1 4) 0

The number of ways 6 Americans, 5 Englishmen and 8 Indians can be seated in

a row 5o that neither Englishmen nor Indians sit between Americans :
{1} (14)! x (6)! ] (2) (13)! x (5!
(3} (11)! x (8)! (4) (19)! x (6)!

Let 4, b, ¢ be positive real numbers. The following system of equations in ¥, y

and z

(1) no solution (2) unique solition

(3) infinitely many solutions (4} finitely many solutions

If the product of n positive numbers js unity; fhen thetr.sum is :

(1) a positive integer {2) divisible by n
1
(3) equalto n+ = (4) never less than »
(3}

P.7.0.
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13.

14,

15.

186.

17.

18.

If A= (_ E.:::n . tﬂ? I X 22+ '1}%, then the value of | ATa |is :

(1) cosdx {2y 2

(3) - cos 4x (4) 1

In the expansion of (x + )" if the coefficient Mo is the greatest, then value
af ris:

(1} 100 (2) 75

(3) 50 (¥ 125

Sum of the coefficients in (6x - 7y)™ " is:

(1) 13 (2) -13

3y 1 | (4) 1

: . fomy
Coefficient of ¥ in the expansion of x- ; ) is
h g

(1} -330m’ (2) —340m’
(3} —350m’ (4) ~360m’

If A and B are two finile sets containing respectively m and i elements, then the

number of non-empty relations that can be defined from A to Bis:
1) m" 2) n"-1 (3) min—1 @ 2" -1

Let a 3 x 3 matrix A have determinant 5 1f B=44% then the determinant of B

is eqilal to e

(1) 20 (2) 100 {3) 320 1) 1600

[ &)



19.

21.

23.
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1f "Cq: ""C; = 33: 4, then value of n is -

(1) 8 (2) 11

(3) 12 (4) 14

Last digit of the number (32)% is

(1) 2 - (2) 4

(3) 6 (4) 8

i a, b, ¢, #and p are distinct real numbers such that (a2 +b% +c? |p? -

2(ab+be+cd)p + {2 + 2 +d%)<0 thena, b, ¢ darein:
(1) A.P. | ) G.P.

(3) H.P. @) A.C.P.

If the sum of odd terms of (x+ )", where n € N, is L and the sum of even terms

is M, then khe value of 12 - M2 is :
) ; |
(1) (x+ ) 4 (x-g)> @ e +a?)

@ [ -2) @ [y

Number of ways when 10 exammation papf:‘fb can bf_' arrangﬂﬁ 50 thﬂt ihf" bE‘
=i
and worst papers never come together ;

(1} 9.(10)t (2) 8.9 (3) 7.(8)! 4 67y

(3)
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" cos0 sinB ] _
and C= then which one of the

| o7 5
2. I A- J__,gz[ -
| __—sinﬂ cosi

fUllﬂwing 1s Lrue ?
(1) C=Acos0-Bsin6 (2} C=Asin@+Bcos

(3] C=Asind -BeosD 4 C=Acost +Bsind{

Direction {Question No. 25 to 27} : In the following questions, answers are lo be based ont
e dingrant given belote, where the trimigle represemts doctors, the circle represends players

anid bie rectangle represeints artests

25. Which numbered space in the diagram represents doctors who are also players
and artisis 7

) 3 . (3) 4 4 5

-2

(1}

26. ‘Which number represents artists wha are also players only 7

2) b 37 (4) 8

(1)

27, Which aumber represeits artists who are neither players nor doctors ?
@ 2

@) 4

(6)



28.

29,

30.

31.

32,
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If A is a square matrix of order n x ¢, then adj (adj A} is equal to

(1) A" A 2 A" A
(3) |A"2 A 4) JAI" A
x 3 6| 12 x ?: 4 5 x| |
Ifl3 6 x|=/x 7 2|=|5 x 4 =0 then X is equal to :
6 x 3 7 2 x x 4 5
(1} 9 (2) -9 (3) O (4) 1
@ b ¢l | 28y +3b; + 4c by g
[ My = ﬂ?_ 112 f.’z ,l’hEI"l 2&2+3b2+4ﬂz bg Cq =
HJ E?'_-:; 1:3 2!?:;'!"36’3 '.!'4('3 b_q_ f_-‘.;
(1) A 5
(2) 24

(3) 24 @) 2x3x4)A

If @ and B are the roots of the equation Bat—x-2= 0, then the equation for

which roots are g and E is:

o
(1) x*-x+10=0 ) **-x-10=0
3y xX+x+10=0 @ x*+x-10=0

If the set A contains 5 élerments and the set B containg g e

number of one-one and onto mappings from A to B is -

1y 720 (2) 120
(1) 7 @0 (4) 30

(7)

EPII'ients, then the

P.T.O.
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33. Domain of the function f(x)=va’ -x? ,a>0.is:

(1) (-a, a) (2) [-a, a] (3) [0, a] (4) {-n, O
34.  The distance between the parallel lines 9x* —6xy w4 +18x—by+8=01s:
(0] o (85 ok (3) e @ VI
J10 V10 NI

35. At what point on the parabola 2 = 4x and the norma. makes equal angle with

the axes ?
(H (4,4 (2} (9,6) (3) (4,4} M (1,-2)

Direction (Question No. 36 to 40) : In each of the folforing questions, tivo statements are
given followed by Hiree or four conclusions pumbered 1, 11, 11 and IV, You have o take the
given statements to be krue even if they seem to be at wariance froni tie conumonly knoien facts
and there decide which of the given conclusions logically follows from the given stafentents

disregarding commonly known facts.

16. Siatements: All wranches are flowers. All flowers are leaves.

Conclusions :
1 Allbranches are lcaves. 1. All leaves are branches.
1. All flowers aré branches,. V. Some leaves are branches.

i V follow
(1) None follows (2) Oﬂl} [ and JV follo

(3) Onlyll and 11l follow (4) Al follows

(8)



37,

38.

39..
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Statements : All politicians are honest. All honest are {fair.

Conclusions :

I Some honest are politicians, II. No honest is politician.
1. Some fair are politicians. IV. All fair are politicians.
(1) None follows (2) Only [ follow

(3} OnlyIand I foliow (4) OnlyIand III follow

Statements : All terrorists are guilty. All terrorists are criminals.

Conclusions :

L Either all criminals are guilty or all guilty are criminals,

II. Some guilty persons are criminals.

[l. Generally criminals are guilty,

V. Crime and guilt go together.

(1) Only { follow {2) Oniy I and I follow
(31 Only I follow {4) Only II and TV follow

Statements : All dolls are windows, All bottles are windows, All cars are
bottles.

Conclusions :

[.  All cars are windows. IT. Some cars are dolls.
[Tl. Some windows are cars.
(1) Only I and II follow (2) Only ITarmL follow

(3) Only I and I1I follow = (4) All follows

(9) PTO.
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40.

41,

42.

43.

44,

Statements : All fruils are vegelables. All pens are vegetables. All vegetables
are rains.

Conclusions -

. All fruits are rains. II. All pens are rains.

IHI. Some rains are vegetables.

{1) None follows (2) Only I and II follow

(31 Only tand 1 follow {4y All follows

If f{x) = ax + b and g{(x) = cx + d, then fig(x)) = g(f{x)) for all x e Rifand only if :
(1} fla)=z() (2) f(b)=glb)

(3) fld)=gib) 4 fle)= gla)

Leta = 33", n e N, if exponent choosen at random the probability that the unit
digit of a wiltbe 9 is

(1) 1/2 (2) 1/3

(3) 1/4 4) 1/9

Which of the following is the same as Lung, Pharynx, Bronchioles 7
(1) Alveol : (2) Ribs
(3) Qesophagus (4) Nepnrons

Two positions of a block are shown below :

/6 /S

when 3 is al the top, which number will be at the bottom ?

1) 6 2 2 @1 (4) 3

(10}
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If 3rd December, 2000 was Sunda ¥, what day was 3rd January, 2001 ?
(1) Tuesday (2) Wednesday

(3) Thursday (4) Friday

Let R be the relation defined on the set N of natural numbers by the rule xRy iff

X + 2y = 8, the domain of R is :

(1) 12,4, 8} (2) {2, 4,6}

- (3) {2.4,6,8) 4) {1,2,3,4

If fx] denotes the integral part of x, then the solution set of the equation
[x]* - 5{x}+6 =0 i5(x ¢ R)

(1) [3,4] (2) 23]

(3) 12,3] 4 [2,4)

The domain and range of the real function f defined by f{x}= 4—2 are given
; I L

by :

(1) Dy=R,Rl-1,1] 2) Dy =R-{4), R, =|-1]

(3) Dp=R-[1], R, =R (4) Dy =R~{~4}, Re={-1,3)

Letf: R — R be defined by f(x) =—;:- forall x e R, then fis ;
(1) one-one {2) onto
(3) bijective {4) not defined

{11)
P10



17P/20313/11(Set-1)

50.

.

52.

53.

[f the straightl line ax + by + ¢ = 0 and x cos ¢ + ¥ sin o = ¢ enclose an angle %)

between them and meet the straight line x cos & — v sin o = 0 in the same point

then
(1) a*+d" =¢? (2) a' +b* =2
(3) a®+b? =27 (1) a®+b° =4

r

¥ , if xisrational

Letf: [0, 1] = [0, 1] be defined by f{x}zj D then fof s :
-z if x is irrational :

(1} constant 2} 1+x

(3 x (4) 1-x

Lot us define a relation Ryon RasaRibif a= b, Then Ryds:
(1) an equivalence relation

(2} Reflexive, transitive but not symmetric

(3) Symmetric, transitive but not refiexive

(4) Neither transitive nor reflexive but symmetric

ax—¢  m+1
ihe value of m must be:

7
If X -bx _m-l has roots which are numerically equal but of opposite signs,

1) i__b. (2) |'i_|_f:1 {3] . H) 1
v b P
54 The lne y = my+1isa tangem of parabula y.g = 4R iEs
(2} np=g {3‘1 m=d @) m=3

ﬂk] m=1



85.

36.

a7,

58.
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The Locus of a point which moves so that the difference of its distances from
two fixed straight line which are at right angle is equal to the distance from

another fixed straight line is :
(1) astraight line {2) acircle

(3) a parabola " {4) an ellipse

The number of distinct tangent that can be drawn from the origin lo the circle

2% +y =Hx+y)is :

th) © 21 (3) 2 (4) 3

The roots of Ax?+Bx+C =0 are r and 5. For the roots of x? 4 px+g=10 to be

r* and sz,p must be equal to :

B - 4AC | 2 _

W =g {2) B—AEE
2AC-B*

@) N 4) B*-2C

ab

asﬂ"b:__
2

The identity element for the binary operation * defined onQ - ()

foralla, be Q{0 is:

1) 1 (2} 0
3) 2 - 1 ,
t (4) =

(13)
PTo
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99.  The number of the value of ¢ such that the straight line v = 4x + ¢ touch the

curve ¥ y =1is:

(1} 0 ) 1

B

G (4) Infinite

60. Which of the following functions from Z into Z are bijections ?
1) f)=x : (2} flx)=x+2

(3) flx)=2x+1 ' (4) Fflxy=x*+1

¥ g
§1. The value of m for which y = mx + 6 1s a langent to the ]1}-’pcrbtﬂa e 1

17 %0
L x('":_% ~ @ 57
20
3 . o 2
(3 =0 (4) 'J 3
n (1' cos? ¥ )
- _Sl___}_—i——'l- equal to:
. = ) (2)
o) - 2T
T (4) 1
(3) 7

(14)



63.

64,

65.

66.
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Dialing a telephone number an old man forgets the last two digits remembering
only that these are different dialled at random. The probability that the number

is dialled correctly is :

(1) é (2) %
(3) % (4) 51[]
1 2007
1= {x(1-x) 7 dx then Iequalto:
n
o=z - @ 21
{3) E[;_{]g_ (4) None of these

=i

¥ Z), Z are ' ' L & '
I, £z are comiplex number such that 7 Jﬁ.--i?ﬁ;ﬂl-‘ imaginary number then

value of | - = ’is:

1+ 29
{1y 0 (2) 1
(3) 2 4 3

The length of longest interval in which the Flifion :
B “non 351“.1'—-45]'“31- i.S.

increasing, is
(1) =/3 {2) /2
(3} 3n/2 {4 =

(15)
H i )
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g7. 1+2i+%°

1-21 237 equals
(1) i 2y <1
(3) -1 (4) 4

5 sl
; f .
68. The eccentric angle of a point on the ellipse %v—i =1 whose distance from

the centre of the ellipse is 215

L A
1t or
(1} i (2) 5

5n m
9 et
(3} . (4) 2

89. 1fu —f{x'q}, o= g{r:}, Flx)=cosxand g'(x)=sinx then %ti, 15 :

1 3 3 & 3 E vy 2
(1) Er.mu’ LCOSeC X (2) —sina’.secx
(3) fanx (4) q ain® x . cosec’x
) 1 5
giNX-—X+-X
?ﬂl ﬁm __.-—'-'—3__'_-"=
x—=0 X
1 (2) i
D 5 120
1
1 1 —
(3) 0 ) 180
, o D 5 7 .
71. Thesum to i WeTms of the series F+TE—I2—2 oy s Faieen 18
On
n 2L 2
) n+1
: 3n
12 @ —
11 '

(16}
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73.
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Find the missing number :

2 & 4
5 @ 12 m@s 3@?
6 4 1
(1) 5 () 6
(3.7 ' {4) 8
If x means —, — means +, + means <, + means %, then valueof 16 x4 + 10 : 5- 10
is:
(1) 28 (2) 38 (3) 18 (4} 24

Direction (Question No. 74 to 76) : It the following questions there are given some

statements followed by conclusions that can be drawn from them. Choose the conclusion which

appeals to you to be the most corvect ;

74,

75,

- The presence of calcium in milk makes it white. Rice, too, is white. T herefore,

i

rice also contains calcium,

(1) False (2) Probably true

{3) True (4) Can't say

Hydrogen is lighter than oxygen. Hydrogen is lighter than helium. Therefore,
oxygen is the heaviest of the three gases.

(1) False (2) Probably false
(3) True (4) Can'tsay
(17)

P.T.0.
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76.

77.

78.

79

80.

People who are bald are generally of the intellectual type. Arun is bald.

Therefore Arun is an intellectual.
t1) False (2) Probably true

(3) True (4) Can'tsay

If p parallel lines are intersected by g other parallel lines, then number of

parallelograms so formed :
— 1 _
(1)~ e 1)lg=1) @ -+ D

{3) &qup—liiq—il (4) %pqu”l}tqﬂi

Find 'odd-one-out' in the following figure :
noopgopnz o
(g s il [A

(1) (2) (3) (4)

In a row Ram is at the 17th place from left and Hari at the 11th place from right.

If there are 5 persons between them, then the place of Hari from left will be :

(1) 22nd (2) 23md (3) 24th (4) 2Cth

A hemispherical bowl of internal radius 9 cm contains a liquid. This liguid is to

be filled mio cylindrical shaped small bottles of diameter 3 cm and height 4 cm.
{ow many bottles will be needed to empty the bowl ?

(2) 35 (3) 54 (4) 63

(18)



81,

83.

85.

The derivative of tan~'<

=

(1)

1
4

E.T

i
|
.

1
2 3

J5°° . 5% .5" dx isequal to

(1)

(3)

[fZ=

(1)

3)

If e and e’ be the eccentricities of a hyperbola and its conjugate then i}
¢

(1)

.1

D
(log 5)°
55°

+C

+C
(log 5)°

1

l-cosB+isin®

0

cotD/2

0

@) 2

v+ x? =1
x

then Re(Z) =

} with respect to tan_li

17P/203/13/11(Set-1)

1
3 2 (4 1

55"

2) 57 (log 5)° +c

@ 5% (log5)* +c

1
L
(2) ;
{4} %uutg

2) 1

{4) None of these

The tangent of the curve y =¢% at the point (0, 1) meets y-axis at :

(1) ©.2)

(3)

F,
k_-;'ﬂ]

E
"

(19)

(2) (2,0)
(4) (-2,0)

2xyl—x2 |
1-2x2

¢ oal
J

]
+—:§*=?
[

P.T.O.



17P/203/13/11(Set-1)

86. Two cards are randomly selected one by one [rom a deck of 52 playing cards.

The probabilily that both cards are greater ihan 3 and less than 8 is

randomly chosen card has a digit 5 3s

b (2)
W 150
) o )
ST

(20)

G @ik
164 169
20 45
3y - 4) —
) 221 & 201
it 7
87. The slope of the langent to the curve iy = ,[ i - 7 at the point where x=1 is:
j
1 I
{1) 2 (2) 1
1 A
3 = 4y —
3 3 @ <
- BB, The polar form of (Y i
(1} cos nf2 +isin n/2 {2) cosm+i8INT
(3) cosm—i8inx (4) cosn/2-isin n/2
89, One hundred cards are numbered from 1 to 100. The probability that a

100

iy
100
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1-7;

If Z= > then:
(2-0°
(1} 12] =2 @ [Z!=1/2
= In
{3} amp {Z) = n/4 (4) amp (z;;:?

Direction ; (Question No, 91 to 93) Refer to the data below and answer the guestions,

In a town of 1000 people, a survey found that 25% of the population played football or
hockey or cricket or more than one of these games regularly. 85 played hockey, 160
played football, 200 played cricket, and 45 played all the three games. While 20 played

ordy football and 70 played only cricket, 20 played both hockey and footbali, but not
cricket.

91.

92.

94.

How many people played only footbatl and cricket ?
(1) 110 (2) 75

(3) 70 (4) 120

What percentage of the total populstion plays at least 2 games ?
(1) 150 (2) 20 (3) 15 4) 24

If 30% of the people who play only hDCkE}' and cricket are ferales, how mg ny
women play hockey and cricket ? '

(1) 3 (2) 8 3) 2 () Ihdeterminate

If x=log,(he),y =log;(ca) and z=log (ab) then which of the ﬁ:nugwfng

tol?

is equal
0 rges @) Qe+ 11
(3) xvz (4) None of these

(2vy '
H Ty
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95. Thesolubiensel of log, [4-5v =215

:; Ly 2 —_, —
UNEEY @ [z %)
) L—tﬂ,il}UL; +a::) (4) None ol [hese
# 51

. - . g 2 Poiae s i s
Direction (Question No. 96 & 97) : I cach o He follotwing qiresitons, a group of Hiree sk
H : N I— fetd Bt S TIT 'l.r":.ﬁ"l
retuted woirds Is gfovn. Clhoose i word from He groeit ailernaiives, that is sintifer i e groen
words and lwnce belongs to the sane group .
96.  Jamn: Jelly @ Pickdes

(1) Butter (2} Marmalade

{(3) Grapes (4] Preservalive

97. Botany : Zoology : Cardiology
(1} Morphoiogy (2) Selsmology
(3) Pedology (4) Taxonomy
g8. Arrange the following words according to dictionary arrangemeni
. Epilaxy 2. Episede 3. Epigene 4. Epiome

o 'ﬁpﬂ[‘!:ﬂ;lll“.’

3} 3,254,
0 23,45 22841
L 4
'..rwl"l_l |:‘4:' 5"4’2F1;3
(3 Jua”

(22)
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Direction (Question No. 99 to 101) : Dryland farming is the only way to not endy combat
rectrring drought but also meet the increasing food requirements of India. Aboirt 45% of
India’s tolal crop production now comes from drylands. By the end of Hiis century, this will
fure to fncrease to 60% if India is to provide adequate food for projected popuiation of one

bitlion by the trun of the century :

89,

100.

101.

102.

i

Dryland farming is important for India.

(1) Data inadequate {2) Defﬁﬂtei}r true

(3) Propabably true {4) Probably false
India is self-sufficient in food production.

(1} Defliniely true (2) Probably true

(3) Data inadequate (4} Probably false

In India, the rate of growth of population is 15 percent per year.
(1) Data ina dequate

(2} Probably true

(3) Definitely true

{4) Probably false

5 3 2
if y* = P(x) is polynomial of order 3 then 7 & {_1;3 %%} equal to :

dx
[1.:1 P“(::'}+P’{x] * {2} FF{IJ_-PW(I}
(3) P(x}.P*(x) (3 A constant
(23)
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103. A is father of X: B is mother of Y. The sister of X and Z is Y. Which of the

following statements is definitely not true ?
(1} Bis the mother of Z (2) X is the sister of 7

{(3) Yisthesonof A (4) B has one daughter

104. Find the wrong number in the series :

3, 8,15, 24, 34, 48, 63

-

i1y 15 (2) 24 (3) 34 {4) 48

105,  Exercise is to Obesity as Water 150 .0 2o

N Al
(1) Thirst {2) Alcohol

3) Drink (@) Purity

6. Five girls are sitting in a row. Rashi is not adjacent to Sulekha or Abha.
106. Five girls &fF | -
At to Sulekha, Rashi is adjacent to Morika. Monika is at

Anuradha is nol adiace | _
diacent to whom out ob the

3 i .
e middlt‘ it the row. Tnen Anuradha is a
1

allowing ?
; (2) Sulekha
() Rl
(4) Menika
3) s

(3

(24)



107.

108.

109.

110.

17P{203/13/1(Set-1)

If CONTRIBUTE is written as ETBUIRNTOC, then which letter will be in the

sixth place when counied from the left if POPULARISE is written in the same

way ?
(iy R (2) I
(3) A (4) L

If log,, x, logy, x,log,, xare in HP, where 4, b, ¢, x belong to (1,40}, then a, b, ¢

are in :
(1) AP : {2) GP
(3) HP (4} None of these

If logg o fx - Uz logg,(x - 1) then x belongs to the interval -
(1) (1.2] (2} (-ec,2)

(3) {2, +ex) (4) None of these

[0 a certain code, PLEADING is written as }'MHCOMFB. How is SHOUIL.DER

written in that code ?

(1} KCDQTIPY {2) QDCKVPIT
(3] QDCKTIPYV (4) TIPVODCK

25
(25) PTO.
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111.  Find the missing number :

! 1 1
7 2 5@2 6@4
3 3 5
(1) 196 (2) 244
(3} 250 (4) 256

112, 1t loggssiny=1-loggs cosx then the number of solution of x € [=2x, 2n] is:
(1} 3 (2) 2

(3) 1 (4) 4

113. Two natural numbers 1 and b are selected at random the probability that

(a +b?) is divisible by 7 s :
(1) 3/8 (2) 1/7
{3) 3/40 {4y 1/4%

x+log {1-x) i

114. The constant term in the expansion of >
O -3 2 0
'1 G
W -3
1
1 F o
[3} - E @ 3

(26)



115,

118.

117.

118.

119,

17P/20313/1{Set-1)

The area enclosed between the curve y =ax” and x = ay*(a>0) is 1 square unit
the value of g ;

(1) 1/3 (2) 2/3

(3) 1/4 (4) 1/5

Shirt is related to Buiton in the same way as Shoes is related to ..... 7’ ........
(1) Stitch (2} Leg

(3) Socks (4) None of these

Find the next term in the series :
BMO, EQQ, HQS,?

(1) KSU (2) LMN (3) SOV (4) SOW

X was born on March 6, 1993, The same year Independence Day was celebrated
on Friday. On which day was X born 7

(1) Wednesday (2) Thursday

(3} Friday (4) Saturday

Find 'odd-one-out’ in the following figure :

SE A=

(3) (4)

(27)
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120. Examine the following relationships among members of a family of six persons

A,B,C, D, EandF,

I. The number of males equals that of fenales,

II. A and E are sons of F.

11, Dis the mother of two, one boy and one girl.

IV. Bis the son of A.

V. There is one married couple in the family at present.

Which one of the following inferences can be drawn from the above ?
(1 AB an;:i  are all fernales 2) Aisthe husband of [

{3) Dis the grand daughter of F (4} E and Fare children of D

(28}
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